

08/12/2023 09:00 AM | Delivery 08/13/2023 04:00 PM | Event 08/14/2023 09:00 AM | Strike PO: Shipping Address: The Lopata Residence 25035 Ashley Ridge Road Hidden Hills, CA 91302

IN-0006495

A GOOD AFFAIR 1131 EAST MAIN STREET SUITE 200 TUSTIN, CA CA

Invoice Date: Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
General					
			Total General		\$0.00
Pool Pieces					
	Garden Props - Umbrella with White & Fringe	2	\$125.00	Т	\$250.00
	Umbrella Base - White Painted	2	\$85.00	Т	\$170.00
	Oslo Round Bistro Table - Gold w. Marble Top 40"D	6	\$250.00	Т	\$1,500.00
	Garden Benches - Giardino Dell' Iris - Love Seat	2	\$250.00	Т	\$500.00
A	Toronto Coffee Table Oval - Gold Frame Glass Top	2	\$200.00	Т	\$400.00
	Giardino Dell' Iris Chair - Black Frame Cushion Cover: Natural Cotton	4	\$25.00	Т	\$100.00
	Ottoman Pod 18"D - Assorted	4	\$50.00	Т	\$200.00
	Accent Pillows	6	\$30.00	Т	\$180.00
		Total Pool Piec		eces	\$3,300.00
Upper Lounge	Area				
TITY IN I	Lyon Bar 7'W - Natural Wood Tones	2	\$550.00	Т	\$1,100.00

Description		Qtty	Price		Total
	Moscow Barback - Gold w. White Base	2	\$175.00	Т	\$350.00
	Garden Props - Umbrella with White & Fringe	1	\$125.00	Т	\$125.00
	Umbrella Base - White Painted	1	\$85.00	Т	\$85.00
X	Florence Stand Up - Natural Wood 42"D	3	\$250.00	Т	\$750.00
P	Versailles Barstool -Off White Cushion	9	\$25.00	Т	\$225.00
	Shakespear Garden Sofa - Black Frame w. Off White Cushions	2	\$550.00	Т	\$1,100.00
	Montreal Coffee Table - Gold Leaf w. Glass	2	\$250.00	Т	\$500.00
	Shakespear Garden Club Chair - Black Frame w. Off White Cushions	4	\$225.00	Т	\$900.00
	Ottoman Pod 18"D - TBD Yellow / Sunset tone colors	4	\$50.00	Т	\$200.00
	Accent Pillows	12	\$30.00	Т	\$360.00
R	Accent Table - Madrid Portrack Marble Top	2	\$100.00	Т	\$200.00
		Total Upper Lounge A		rea	\$5,895.00
Fire Pit Area					
	Garden Props - Umbrella with White & Fringe	2	\$125.00	т	\$250.00
	Umbrella Base - White Painted	2	\$85.00	Т	\$170.00
P	Versailles Barstool -Off White Cushion	6	\$35.00	Т	\$210.00

Description		Qtty	Price		Total
I	Avignon Square Bistro Table - Silver w. Marble Top 36" x 36"	3	\$250.00	Т	\$750.00
	Garden Benches - Giardino Dell' Iris Love Seat with Ivory Cushion	4	\$250.00	Т	\$1,000.00
FA.	Toronto Coffee Table Oval - Gold Frame Glass Top	2	\$200.00	Т	\$400.00
THE REAL PROPERTY IN THE REAL PROPERTY INTO THE REAL PR	Giardino Dell' Iris Chair - Black Frame Cushion Cover: Natural Cotton	4	\$25.00	Т	\$100.00
	Ottoman Pod 18"D	4	\$50.00	Т	\$200.00
A	Accent Table - Madrid Fuji Marble Top	4	\$100.00	Т	\$400.00
	Accent Pillows	20	\$30.00	Т	\$600.00
			Total Fire Pit Area		\$4,080.00
Lower Lounge A	rea				
	Lyon Bar 7'W - Natural Wood Tones	1	\$550.00	Т	\$550.00
	Moscow Barback - Gold w. White Base	1	\$175.00	Т	\$175.00
	Shakespear Garden Sofa - Black Frame w. Off White Cushions	2	\$550.00	Т	\$1,100.00
	Montreal Coffee Table - Gold Leaf w. Glass	2	\$250.00	Т	\$500.00
	Ottomans - Savannah Faux Bamboo	1	\$85.00	Т	\$85.00
	Ottomans - Savannah Faux Bamboo	3	\$85.00	Т	\$255.00
	Ottoman Pod 18"D	4	\$50.00	Т	\$200.00

Description		Qtty	Price		Total
	Accent Pillows	12	\$30.00	Т	\$360.00
		Total Lower Lounge Area			\$3,225.00
Services					
	Installers: Install	6	\$400.00		\$2,400.00
	Installers: Strike	6	\$350.00		\$2,100.00
	Trucking: 24'L	2	\$450.00	Т	\$900.00
	Trucking: Fuel Surcharge	2	\$65.00	Т	\$130.00
	Manager: Layouts	1	\$750.00		\$750.00
	Supplies: Misc	1	\$300.00		\$300.00

Please make checks payable to Revelry, Inc.	Total Products:	\$16,500.00
Note: Dries to delivering and nick upp all invained must be new in full	Total Labor/Services/Misc:	\$6,580.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	Taxes :	\$1,624.98
	Discounts:	(\$425.00)
Notes	Total:	\$24,279.98
	Payments:	(\$0.00)
	Balance:	\$24,279.98